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DIRECTIONS:
Following information is given about a family.

i. Meena is Reena's only sibling.
ii. Sita is Ruchi's grandmother.
iii. Nutan is Sujata's and Ram's grandchild.
iv. Sujata has only one child, a son.
v. Meena is Vishu's sister in law and Ruchi's mother.
vi. Nutan is Vishu's daughter. Ram is Sita's husband.

Q1. How is Nutan related to Ruchi?

a) Sister

b) Cousin

c) Aunt

d) Niece

Q2. How is Sita related to Vishu?

a) Mother

b) Aunt

c) Mother-in-law

d) Sister

Q3. How is Vishu related to Ruchi?

a) Father

b) Uncle
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c) Grandfather

d) Brother

Q4. How is Ram related to Sujata?

a) Brother

b) Husband

c) Sister

d) None of these
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DIRECTIONS:
a. K is sister of S.
b. S is married to M.
c. M is father of R.
d. Q is son of P.
e. S is mother-in-law of P.
f. M has only one son and no daughter.
g. K is married to T.
h. N is daughter of K.

Q5. How is P related to M?

a) Son

b) Uncle

c) grandson

d) Daughter in law

e) None of these

Q6. How is K related to R ?
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a) Sister

b) Mother

c) Mother-in-law

d) Aunt

e) None of these

Q7. A is the daughter of F. H is married to F. F is brother of B.Q is married to
A.How H related to Q ?

a) Mother

b) Mother-in-law

c) Daughter

d) Aunt

e) None of these

DIRECTIONS:
Study the following information carefully and answer the questions given below it.

i. A is the father of two children B and D, who are different sexes.
ii. C is B's spouse.
iii. E is of the same sex as D.
iv. B and C have two childrens-F who is of the same sex as B and G who is of the same sex

as C.
v. E's mother H who is married to L, is the sister of D's mother M.
vi. E and E's Spouse I, have two children J and K, who are of the same sex as I.
vii. No person has married more than once and no children have been born out of wet lock.
viii. The only restriction son marriage are that marriage to a sibling, to a direct descendant or

to more than one person at the same time are forbidden.

Q8. According to the rules, D can marry?

a) j only

b) G only

c) F only
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d) K only

e) F, J or K

Q9. If the generation of F and K’s parents and their siblings contains more females
than males, then which of the following must be true?

a) J is a male

b) A is of the same sex as D

c) K and G are of the same sex

d) there are more females than males in F and K’s generation

e) None of these

Q10. F is

a) G’s brother

b) D’s niece or nephew

c) G’s Sister

d) B’s daughter

e) none of these

Q11. If L and H divorced, then H could marryI. D only II. F III. D or G

a) III only

b) II only

c) I only

d) II or III, but not both

e) None of these

DIRECTIONS:
Read the information given below and answer the questions that follow:
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I. A, B, C, D, E and F are six members of a family.
II. One couple has parents and their children in the family.

III. A is the son of C and E is the daughter of A.
IV. D is the daughter of F who is the mother of E.

Q12. Who are the male members in the family ?

a) A and C

b) Cannot be determined

c) A, B and D

d) C and F

e) None of these

1000+ FREE BLOOD RELATIONS BASED QUESTIONS AND ANSWERS FOR ALL
COMPETITIVE EXAMS

Free Practice MCQs »  Download More PDF »  Free Online Quiz »

Q13. Which of the following pairs is the parents of the children ?

a) BC

b) Cannot be determined

c) BF

d) CF

e) None of these

Q14. Which of the following pairs is the parents of the couple ?

a) AB

b) CF

c) AF

d) BC

e) None of these
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Q15. How many female members are there in the family ?

a) Two

b) Can't be determined

c) Four

d) Three

e) None of these

Read More blood relation Question and Answes »

Answers to the above questions :

Q1. Answer: (b)

Cousin

Q2. Answer: (c)

Mother-in-law

Q3. Answer: (b)

https://careericons.com/verbal-reasoning/blood-relation/type-2-section-2-mcqs/931-1/
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Uncle
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Q4. Answer: (d)

None of these

Q5. Answer: (a)

Q6. Answer: (d)
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Q7. Answer: (b)

Q8. Answer: (a)

According to the rule D can marry only J or K

Q9. Answer: (a)

As for more female, the gender of D and E must be female as both are of the same gender

B shall be male and C is female and I shall be Male

So F, J and K are males and G must be Female

Q10. Answer: (b)
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As F’s gender is not known so F may be nephew or niece

Q11. Answer: (d)

As H cannot be able to marry E, I, J and K. H can marry G or D or F

Q12. Answer: (b)

[Note:E is the daughter of A and F is the mother of E. So ,A is the father of E and hence the
husband of F. Now ,D is the daughter of F. So, D and E are the daughters of A and F.

Also , A is the son of C . Now ,only B remains . Thus ,B and C are the parents of A]

The sex of B and C cannot be determined

Q13. Answer: (e)

[Note:E is the daughter of A and F is the mother of E. So ,A is the father of E and hence the
husband of F. Now ,D is the daughter of F. So, D and E are the daughters of A and F.
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Also , A is the son of C . Now ,only B remains. Thus ,B and C are the parents of A]

Clearly ,A and F are the parents of the children D and E

Q14. Answer: (d)

[Note: E is the daughter of A and F is the mother of E. So ,A is the father of E and hence the
husband of F. Now ,D is the daughter of F. So, D and E are the daughters of A and F.

Also , A is the son of C . Now ,only B remains. Thus ,B and C are the parents of A]

Clearly,B and C are the parents of the couple

Q15. Answer: (c)

[Note:E is the daughter of A and F is the mother of E. So ,A is the father of E and hence the
husband of F. Now ,D is the daughter of F. So, D and E are the daughters of A and F.

Also , A is the son of C . Now ,only B remains. Thus ,B and C are the parents of A]

Clearly,the females in the family are : either B or C,F,D, and E.
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